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Meet Harriet Smythe-Jones, our intrepid hero. Harriet is tall, slim, attractive,

@ strong and brave, just as you would expect. She usually wears faded jeans, a
black T-shirt, soundless sneakers and a floppy, cloth cap. She carries all sorts

of ingenious gadgets in her pockets, which she finds invaluable in

tricky situations.

She has a companion she calls “Shorty”. Shorty is just that. He is also fat and,
not being very fit, he finds it hard to keep up with the energetic Harriet. He
wears loose comfortable pants and bright, floral shirts most of the time. He is
always forgetting things or losing things, but Harriet knows that Shorty will
never let her down. He will not abandon her when she most needs help. They
have been in many dangerous situations and have so far managed to stay
alive... and stay friends.

Read the text and shade a bubble or write an answer to each question.

Harriet is an mﬁ@ww This means she is: MEGHITORING
() persuosive “( ) brave >
() unusual £ curious

E Why does the writer say just as you would expect

about Harriet? MAIING CONNESTIONS
()you can’t be a hero unless you are like Harriet

) you would know her if you saw her

() we think heroes are always strong, brave efc™>
() we want to read more about her

Why would Harriet have soundless sneakers? PREEHCTING

She can move around azw;\eﬂﬂ.

D W}mé are ingenious gadgets? QUESTIGRING
{ )sharp objects

() small cameras

) things that are easy to use

useful, cleverly-made de@
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E Invaluable means: MCRITORING
having no value

( Jworthless

() a value 100 great to measure

( )not correct

Vhich is the odd word? MCRIPTC RS
(") companion
@ traveller
_.—=5:'-
(U partner
Oftend

7 ) How are Harriet and Shorty different? GUESTIONING
o_Harret 15 tall and Shorly 12 short,

® Harriet is slim and 5!’)@5’43; s fat

® Harpet s S?Lmnq and Shorty is untit

@ HO{H’(@* camés maen%wg Qadqfﬁs Cmc! 5}’105’7(‘—;
loses Hﬂmjs

Which word best describes Shorty? SUMMARISING

() short

() fat

forgetfu}_

E ShOI’W wears floral shirts. E’h@ys FSKING CORMECSTIONS
(O have small stripes

(" are covered zm

{ )are long- sleeved

(") are unironed

10 ) Y@@ would pmbably find these characters in: PREDICTING

( ) a humorous story
(") a book about famous people

() a stage show

MNMUMBER OF CORRECT ANSWERS 10
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Activity 22

A B C D A B C D
7-2=517-1= [, |2-1= ] |4-1= 3 | |5-1= ¢ |6-1= §|3-1=2 |7-2=5
10-2=3 |8-1= 7 |7-1=( |8-2= { | |5-1= |9-2= 7 |8-2=( |10-2=8
3-1= 2 (9-2="7 [10-2=%(10-1=9 | [9-1= ¢ [10-2=§|8-1=7 |7-2=5
8-1="7|7-2=5 |5-1=4 |6-1= 5 1-1= 0 [2-1= | |7-1= |, |10-1=9
9-1= } [10-2=% |10-1=99-2= 7 8-1= 7 |10-2=8(8-2= L |2-1= |
8-2=( |1-1=0 |8-1=7 |4-1= 3 | |10-1=9 |7-1= b |9-2= 7 |9-1=¢
1-1= () |9-1=§ |9-2= 7 |7-2= G 8-1= 71 [1-1= 0 |7-1=b |7-2=5
10-1=9(8-2= b |5-1=4 |10-2=% | |4-1= 3 [3-1=2 [8-2=( [9-2=17
9-2="7 {2-1= ] |7-2=5 |3-1= 2 10-1=§ 19-2=7 |10-2=% |9-1=§
7-1= |, |9-1=¢ |8-2= b |6-1= 5 | |4-1= 3 |8-2=(

A B C A B
7-2=5 |6-1=5 |8-2= b |4-1=3 | |5-1= 4 |6-1=5
9-1= ¢ |10-2=§ [9-2= ] |10-1=9 | [9-2=7 |5-1= &
9-2= 7 |8-2= b |3-1= ) |4-1=3 | |10-2=% |9-1= ¢
7-2=5 |7-1=( |1-1= () |8-1=7] 2-1= | |1-1= O
9-1=¢ (9-2= 7 |7-1= {, |10-1=9| |10-2=¢ |8-1= 7
2-1=| |8-2= [, |10-2=¢ |8-1=7 | |7-1= £ |10-1=Q
10-1=9 |7-1= { |2-1= | |1-1= 0 | |1-1= 0 [8-1= 7
7-2= S |8-1= 7] [10-2=§9-1=§ | [3-1= 2 |4-1= 3
10-2=3 [8-2= {, |9-2= T |5-1= ¢4 | |9-2= 7 |10-1=G|9-1=¢ |7-1= ¢
7-2= 5 |3-1= 2 |5-1= 4 |6-1= 5 | |8-2= b |4-1= 3




Activity 23

A B C D A B C D
6-2= 4 (3-1= 7 [2-2= (0 |5-2= 3 10-2= ¢ |6-2=¢ [3-1= 2 |2-2=7
7-2=5 |7-2=5 |4-2=2 |5-1=4 | |1-1=Q |7-2=5 |5-2= 3 [2-1=|
2-2=0 (8-2=, |9-1=¢ |6-2=¢ 6-2= 4 |2-2=7|3-2= | |8-2=
4-2= 2 |6-2= (. |4-1= 3 |3-2= | 6-1= 5 |4-2=7 [2-2=0 |1-1= ¢
10-1=Q |8-1= -7 |5-2= 3 |4-2= ) 3-2= ) |10-1=9|4-2= 2 |10-2=§
9-2= 7 |4-2= 7 |3-2= | |10-2=§% 5-2= 3 |9-2= 7|8-1= 7 |4-2= 2
5-2=3|2-2=0 |6-1=5|1-1= 0 | |4-1= 3 |5-2= 3|6-2= 4 |3-2= |
2-1=] |3-2= | |6-2=4 |8-2= | 9-1= & |2-1=| [8-2=( |6-2= 4
7-1= b |5-2= 2 |1-1=( |2-1= | 4-2= 2 |7-1=4 |7-2= § |5-1= 4
3-2= | 2-2= 2 |3-2=| |3-1=2

A B C D A B C
2-2= ¢ |2-1= | [8-2=( |1-1=0 | [3-2= | |8-2= { [3-2= | |7-1={
10-2=g |4-2= 2 |3-2= | |6-2= 4 | |9-2= 77 |7-1= (, |2-1= | |5-1={
5-1= 4 |5-2= 3 |10-2=% |1-1= 0 | |7-2= 5 |10-1=9 |2-2= D |2-2= 0
6-2= 4 |6-1= 5 [3-2=| |5-2=3 | |3-2=| |6-2=4 [4-2= 2 |5-2= 3
4-1= 2 (9-1=% |4-2= 2 |2-2=0 | |6-2=4 |2-2= 0 |3-1= D |2-2= O
3-1= 9 |5-2= 3 |3-2=1 [2-2=0 | [10-2=¢ |8-2= b |4-2= 2 |5-2= 3
4-2=7 |8-1=7 |6-2=4 |8-2=L | [3-2= 1 |1-1= O |7-2= 5 |8-1= 7
7-2=5 |3-1= 2, [3-2=| |7-1=L | |4-2=2 |5-2= 3 |6-2=¢( |3-1= 2
2-1= [5-2= 3 |9-2= 7 |10-1=9 | |2-2=0 [2-2= (0 |4-1=3 |6-1=5
4-2=2 12-2=0 (7-2=5 |6-2=4 | |1-1=p [2-1=1 [8-2=(, |9-1=§
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Activity 54

A B C D A B C D
6x6=20,|6x1= [, |6x4=24|6x8=4g | |6x9=54 |6x6=3(, [6x8="4%5 |2x3= b
5x2=10 |6x8=4% |8x9="T2 |3x6= |4 7x9= 63 |3x7=2| |6x4=24% |4x8=32
Ix4=3L |9x9=§| |6x6= 3L |6x9= 54 | |6x7= 44 |0x8= ¢ |7x4=28 |4x6=24
6x9=5Y | 7x4= 24 |3x7= 2| |6x9= 5% | |5x2=5( |8x9=72|3x9=21 |6x9=5¢
Ax6=24|6x7=4) |6x9=54 |6x7=42 | |8x4= 22 |6x6=3b |6x9=54% |6x7=42
6x8=44 |1x0=0 [4x8=32|2x0= @ 6x6= 36 |9x4=3L |3x8=24 |6x6=3(
7x2=14|3x8=24|6x8=43 |7x9= (.3 | [3x6= |8 |6x8=UB|6x1=L |6x8=43
3x9=2116x6=3 |7x4=28 |4x9=3L | |6x8= kg |6x7=42|6x9=54 |7x4=2%
2x3= b |0x8= ( |6x7=92|6x9= S4 | |ex7=042 |2x0= 0 |1x0=0 |6x9=54
6x7=42|8x4=32|3x0= 0 |6x6=3b | |3x0= (0 |7x2=14 |4x9=36|9x9=3 ]

A B C D A B C D
OX7=4 |6x6=3b |6x8=48 |6x4=24 | |3y8- o4 |6x6=3b |6x7= 42 |6x6= 3k
Ix9=§) |8x9=12|7x4=26 |6x8=4% | |Gy6=3(, |3x0= 0 |5x2=10 |7x4=28
4x8=372 |9x4= 36 [5x2= 10 |1x0=0 | [1x0= o |8x4=30 |8x9=T72|3x9=27
6x9=54|2x0= 0 |6x7=42 |6x6= 8L | |ox4=3f |6x4=24 |6x7="42|6x8= 4%
Ox4=3b |6x9= 54 |3x7=2| |7x2=14 | |6x9=5% |6x6=3L |2x3=( |3x7=2|
6x8= 4%|0x8= 0 |4x6=24 |3x8=24 | |0x8= 0 |6x9=54 |7x9= b3 7x2= ¢
6x9=54 |8x4=3) |6x6=3L |6x6=3L | |6x9=5¢ |4x9=3( |7x4=25 |9x9= g|
6x8=U% |7x9=63 [3x9=27 |2x3= b | |4x6=24 |6x1= b |6X8=4% [2x0= O
3x6=18 |6x1= b |6x9=54 |6x7= 42| |3x6=|g |6x9=354% |6x8=4F|6x9= 54
6x7=424x9=36 |3x0= 0 |6x9= 54| |6xs= 43 |6X7= 42 |4x8=232 |6X7= 4 2










